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10010|A L 57 72 129 63
=i 10020| & 63 61 124 60
10030(F8 / im 5 45 58 103 58
10040|fd / im e 97 104 201 101
H 10050 € / ¥ P8 157 183 340 157
10060| %850 11 17 28 14
10070|¥& 44 41 85 48
10080 (= HT 120 184 304 154
10090| K f# 11 10 21 15
10100|f2& 29 26 55 27
10110|HHT1 69 78 147 75
10120|7aHTER 56 76 132 65
10130|7aHETH 7 5 12 7
10140|7afTPE 77 66 143 76
10150|#0EF 240 261 501 221
10160|Z 4K 103 131 234 120
10170[42/R 35 52 87 49
10180|FafnET 51 71 122 72
10190(#aHT 48 71 119 65
10200y 48 62 110 53
10210|5RHT 9 15 24 13
102207 95 142 237 138
10230| AR 37 43 80 40
10240 |A<HT 33 35 68 33
10250| R ZHT 68 75 143 71
10260| /B HT 67 78 145 84
10270|=FH7 98 109 207 108
10280|#t 151 175 326 140
10290|m Pz 110 113 223 114
10300(4tF 3z 135 128 263 120
10310[4t/R 155 173 328 166
10320|& R 75 83 158 82
10330|F/H 36 35 71 38
1034012 8 9 17 12
1035008 11 16 27 16
10360 E1R 27 33 60 28
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10370(#8/ T 5 10 15 11
10380|%&= 15 17 32 18
20010]| AHie 8 5 13 8
x 20020 Rk 10 6 16
20030|F T 11 10 21 16
20040|H 5% 14 18 32 16
N 20050 H 15 11 26 11
20060|—/ # 29 27 56 26
20070(f8r 79 92 171 75
20080| A 1A 91 102 193 81
20090 =7 92 104 196 93
20100 K@ 104 120 224 99
20110|=HT 40 59 99 46
20120| F Y 51 62 113 53
20130| = H7 77 90 167 68
20140 &8 37 38 75 31
20150|&-HT 59 47 106 50
20160|/11= 75 70 145 63
20170 7 *A%73 55 59 114 54
20180 FH 2 HT 129 146 275 123
20190| & %7 75 74 149 58
20200 ETEFE 165 179 344 165
20210|E =8 132 134 266 106
20220| K 67 80 147 63
20230|5RH7 62 70 132 55
20240 F % 36 45 81 37
20250| &% 25 28 53 36
20260| K+ 79 75 154 54
20270| KHHHb 18 22 40 14
20280| &1 24 29 53 22
20290 EH 47 57 104 50
20300(m 36 44 80 38
20310]dcity 50 50 100 44
20320|BE#0 34 34 68 34
20330 & 41 35 76 33
20340 2% 10 8 18 10
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20350|%/k /T 62 95 157 77
20360| H AR 6 5 11 6
20370|HmEHHy 20 18 38 14
20380| ¥ 53 66 119 62
20390|AIse& 18 25 43 17
20400[1L°F 14 15 29 12
20410 KEA 38 46 84 35
20420|3z &) 41 40 81 41
20430(2 36 36 72 33
20440| 7R 7 10 17 8
20450 K= 10 10 20 10
20460|7&R1T 11 10 21 11
20470]/\I& 2 0 2 2
20480|#H 9 13 22 12
204904 4 7 11 6
20500| &5 )% 11 18 11
20510|EEkE 15 11 26 14
20520(4 7 IR 18 15 33 16
20530 A —L 32 54 86 86
30010| 5 #THT 62 63 125 76
= 30020 |Fr#T 190 180 370 170
30030[Zn M 170 178 348 183
30040 EF 50 71 121 67
E 30050(&E=® 30 38 68 32
30060(dtHE 81 79 160 87
30070|FEHE 657 691 1348 618
30080|FHTH 7 18 34 52 27
30090|<FHT=R 53 55 108 58
30100|FH#*| 52 67 119 57
30110k 331 334 665 365
30120(5E 456 387 843 438
30130(# X 156 105 261 165
30140(=H0 99 105 204 80
30150(/\T #b 172 174 346 136
30160(f&)11 53 69 122 60
30170( 7 =& v 304 348 652 304
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30180/ N7/ NAY 15 15 30 20
30190 | @Ay 198 218 416 173
30200 F1T 51 56 107 41
30210/ 223 188 411 171
30220|==H 67 74 141 75
30230|&AT 24 30 54 27
302404 280 2177 557 283
30250[:& /N A Y 38 43 81 38
30260 =# 157 181 338 163
30270 =2 —% v it 110 139 249 112
30280| =2 —X 7 HR 120 140 260 120
30290(=2—% 7 135 144 279 125
30300\ K7 569 450 1019 630
30310|REE=E 99 182 281 154
30320|E=ts 123 144 267 122
30330|EMHE 80 87 167 74
30340| K& 110 126 236 116
30350|ATFEEE 0 0 0 0
30360(~ U F v E&E 16 5 21 19
30370|F L& AuEp 149 144 293 109
30380(*KF8 48 56 104 49
30390|FkE= 33 43 76 40
30400|<F8 55 59 114 53
30410(#&H 187 208 395 188
304208 ER LA 33 31 64 29
30430| KR+ 60 66 126 58
30440(M8 7 = # 7 6 13 9
30450|Ha 77 U 92 101 193 92
30460/ Ny =X T v 99 122 221 105
30470| K& 21 26 47 19
30480 |5 E R M 32 37 69 38
30490 | AL M 13 19 32 17
30500(#7 B 73 78 151 74
30510k 84 111 195 89
30520 K& 1 0 1 1
30530(/1178 177 184 361 155
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30540] WL 86 73 159 89
30550|/ & 35 42 77 38
30560 (#TH 39 33 72 30
30570(EZRiREEE 44 46 90 55
30580(B 7% 82 75 157 73
30590|7\F 8 9 17 9
30600/8 42 49 91 41
30610|= 4+ 30 36 66 32
30620|/1\75 308 219 527 306
30630(% > - 3 —RZ XA 0 0 0 0
30640])113 52 45 97 45
30650\ 7 bILAS 34 37 71 29
30660|=F& 8 3 11 6
30670|/\HE=E 50 50 100 49
30680|/)NHPE 34 43 77 35
306903k DT 43 40 83 41
3070012 =& 32 28 60 29
30710|R= & 33 42 75 40
30720|H & 23 25 48 26
30730+ 22 16 20 36 24
30740|# 22 21 24 45 28
30750 D& 26 30 56 28
307608 32 29 61 32
30770(HE 50 45 95 49
30780 ER=E 27 27 54 26
30790| &5k 28 28 56 29
30800( K& 2 5 2
30810(=JIIH 13 22 14
30820()11H 43 31 74 32
30830(+ =2 37 37 74 31
30840(9 @ 26 32 58 23
30850(AfH 27 20 47 22
30860|%E £ 27 32 59 28
30870(%E T 51 40 91 50
30880|5H 21 29 50 24
30890()11# 37 46 83 41
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30900| A% 1L 34 33 67 35
30910|f&&BAK LA 74 89 163 81
30920 P& BRHTHT 2 1 3 2
30930|/\#&F 41 43 84 33
30940( 7 L 30 42 72 35
30950|#k 7T 46 49 95 33
30960 =% 42 43 85 31
30970|7%E 9 10 19 10
30980|H A 20 20 40 16
30990( FFRr 19 20 39 17
31000|HH+ 24 27 51 24
31010| Mok 46 43 89 38
31020| &k 15 16 31 14
31030(B/XRT 35 45 80 42
31040(FXR L 25 36 61 30
31050| Kt 27 41 68 33
31060(|FE 38 45 83 36
310701 R= 20 19 39 18
31080|BJIIR 10 11 21 10
31090| LD 9 11 20 9
31100|#8A 25 33 58 33
31110( L% 0 0 0 0
40010|H 8 104 114 218 94
ES 40020 SHEEHE 0 0 0 0
40030|1= K 64 67 131 54
40040|15 N [E s 0 0
J 40045\ &R 6
40050| L E 41 49 90 48
40060|TCHET 26 34 60 25
40070(FHHTH 2t 2 6 8 8
40080 K £ 23 22 45 23
40090 hnz 58 42 100 39
40100|1 %<5 49 47 96 31
40110(FIA 13 12 25 11
40120|=# 65 68 133 51
40130(FR/L 50 45 95 A7
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40140|A47 51 61 112 37
40150 2 68 78 146 66
40160|RE® 0 0 0 0
40170| BB AT 13 9 22 22
40180|mHZ 43 46 89 36
401905~ 4% 7 10 17 7
40200|SH 53 51 104 37
40205| L ER# 52 95 147 62
40210781l E 58 69 127 56
40220(1&75 93 105 198 84
402301 KL 56 45 101 46
40240\ BT 76 82 158 71
40250|==H7 32 31 63 29
40260| R ER]# 71 78 149 63
40270|AHT 73 91 164 73
40280| £ ER iy 55 102 44
40290( 1L H 51 50 101 42
40300| KK 43 49 92 46
40310|/h& 17 14 31 14
4032085k 38 32 70 29
40330 |z 13 11 24 13
40340|FHE 15 34 49 49
40350( 77X =7 4 HFR 15 24 39 21
40360(= < 9 9 18 9
40370| R # 60 57 117 51
40380(E2F 49 58 107 44
40390(=™ 41 36 77 26
40400|finFH 19 26 45 20
40410 |15l 19 19 38 16
40420( 1Ll 100 122 222 96
40430|#HETE s 22 23 45 25
40440 (111 5 Hp 0 0 0 0
40450 58 1Ll 24 26 50 23
40460|4E Ll 20 19 39 18
40470| 48 39 45 84 36
40480(Fr)1 91 114 205 80
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40490|37)113= 6 14 20 12
40500 EFfE 56 46 102 45
40510 K 74 81 155 69
40520(F 54 64 118 52
40530 | TRy 9 9 18 9
4054011l R 20 25 45 19
40550|7- AIFIE 13 14 27 10
50010(E= 72 66 138 58
& 50020(#x o = 31 41 72 35
50030|/11ZR 36 32 68 30
50040| 23 HH 18 13 31 20
E 50050|#1&E—T B 42 54 96 41
50060|#1&E =T B 21 26 47 28
50070|#1&E=T B 49 52 101 46
50080|#1 & T B 54 51 105 43
50090| M= 131 130 261 125
50100 FEE= 6 5 11 5
5011011 £ 71 51 122 74
50120 = 0 0
50130(Bk D FLE 0 0
501407 ¥ 7 == 0 0
50150 (fT&/NA Y 4 6 10 10
50160(#1E AT B 6 12 18
50170|W 7= H it 0 6 6 6
50180(7 UV A 7« Z)Il k£ 12 18 30 13
50190|&AT 78 106 184 81
50200 58 45 46 91 38
50210(=Fa 30 35 65 32
50220|=7aF8 53 46 99 45
50230|/i 48 67 71 138 57
50240 }R4&E 58 65 123 53
50250 )Rz 28 35 63 31
50260t L 0 0 0 0
50270|4t L H3Hb 49 54 103 52
50280|NEE=E 30 33 63 29
50290 (& HHH#s 21 27 48 28
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50300 ##EAL 109 103 212 109
50310|##EEE 95 93 188 91
50320(EZR{eEE=E 6 6 12 6
50330(REHHE 20 29 49 25
50340| T 149 193 342 147
50350 FATIEE 2 6 8 4
50360|FaHFHH 7 7 14 7
50370|FaHFHIHER 2 1 3
50380| &R AT 41 41 82 32
50390|ErfE H 69 73 142 63
50400|EFfEIHER 96 111 207 98
50410 ZF)1HE 71 61 132 53
504202 F)1IEE 36 48 84 42
50430|EH=2—% "7~ 26 31 57 32
5044017 U — /A 37 44 81 44
50450 |2y fE HER Y 42 33 75 35
50460|& < O-H#h 22 18 40 18
50470| Y — /XX &7 v iEH 24 19 43 21
50480|FEH= 2 —% 7~ 9 8 17 10
50490| E'L v ¥/ R EFREIH 51 36 87 60
505000 > 7 27— 21 23 44 21
50510(EFFIHEH 14 15 29 13
50520|1 — X b X7 > EH 25 27 52 21
50530(4L L7 79 75 154 67
50540(dt1LE 80 87 167 83
50550|F L > & S 251 255 506 171
50560|/114t 26 18 44 23
50570(1FH 81 87 168 64
5057574 7 AT —YRE 29 24 53 13
50580|7% &= 141 160 301 109
50590|BF/ £ 45 A7 92 33
50600 & 257 283 540 220
50610|FE R 5 7 12 8
50620 fH 39 45 84 39
50630|#rET AT B 25 24 49 24
50640|FafT 11 17 28 13
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50650|Fa ATk 29 26 55 24
50660|& & 8 14 22
50670|&RE1E®E 4
50680 | & & F#h 0
50690 3BT 41 52 93 38
50700| % FHETEEH 0
50710k FEEER 0
50720| B IFHT 5 5 10 5
50730|F /T 31 32 63 34
50740(5HTFE / T 53 61 114 50
50750 T 74 79 153 71
50760| T A 82 90 172 73
50770| L& H 116 132 248 120
50780 iz 103 111 214 100
50790 | =11 64 54 118 53
50800| =3z 96 96 192 100
50810|FaiRR 26 33 59 26
50820 [EIX/R 34 33 67 33
50830|FEIFR 22 31 53 28
50840| L B FFEHE 13 21 34 14
50850| £ R F AR 18 29 47 27
50860|KE A Fl#h 27 61 88 44
50870|#TFx & 38 42 80 27
50880 (AT 12 11 23 10
50890 T A FHIHb 21 24 45 22
50895|FH A > 2 v RE 23 20 43 13
50900 [FT & 28 32 60 25
50910|{E H H#h 19 15 34 12
50920 A4 56 64 120 46
509303/ T 124 133 257 95
50940 F 1L HT 41 60 101 45
50950(;&7k 95 114 209 95
50960 & 33 30 63 27
50970 & L 20 20 40 25
50980(t1 / 1 83 75 158 73
50990 (= #h 50 55 105 55
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51000| &7 96 113 209 88
51010|E &5 78 83 161 73
51020|% 26 38 64 33
51030| & 38 47 85 44
51040[21TAH 42 48 90 36
51050|=1T& L 40 30 70 33
51060|%& R 45 41 86 32
51070 6 6 12 5
51080|F% 65 78 143 65
51090| & F#h 11 16 27 12
51100(%&=R 16 25 41 17
51110| T4 56 61 117 53
51120|&#8 100 96 196 87
51130[it / A 37 49 86 38
51140| L% 47 46 93 41
51150| At RERHE 69 66 135 57
51160|7 ) —> &7 > % 21 21 42 20
51170 K%& 58 67 125 61
51180| 2 13 11 24 18
51190|#4 18 18 36 21
51200| & &7 6 6 12 4
51210] kA7 9 11 20 10
51220| K% 13 16 29 15
51230|Z K 0 0 0 0
51240(MHE 16 21 37 19
51250|%84t 10 10 20 12
512608857 7 6 13 7
51270(Bh¥ 17 13 30 18
51280|E= A 15 12 27 15
51290 [#& B 14 14 28 15
51300| 1A 7 10 17 13
51310/ 1L £ 14 22 36 16
51320|# LT 29 38 67 33
51330(1&)I| 26 21 47 24
5134032 13 13 26 16
51350|E#A 8 9 17 11
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At 21,188 22,774 43,962 20,831




